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QUESTION 1

You are designing a Hitachi NAS Platform 4000 cluster solution which will connect to an existing Hitachi VSP storage
system using Hitachi Dynamic Provisioning (HDP). Which HDS best practice should you follow to maximize
performance?

A. The existing HDP Pool should be expanded to accommodate the HNAS workload.

B. A new HDP Pool should be created to accommodate the HNAS workload.

C. Superflush should be disabled.

D. Write cache should be turned off on the VSP.

Correct Answer: B

QUESTION 2

Your customer wants to issue administrative commands to a Hitachi NAS Platform 4000 over their data
network using scripting.

What must you do?

A. Change the firewall setting in SMU to allow access to the admin EVS.

B. Assign an IP address to the admin EVS on the data network aggregate.

C. Run the scripted commands against any existing file services EVS.

D. Add an additional IP address to the file services EVS used by the clients.

Correct Answer: B

QUESTION 3

A customer is planning to deploy Hitachi Object Replication on their existing Hitachi NAS Platform 4000.
They want to replicate only two of their WFS-1 file systems.

Which statement is correct?

A. Object replication must be setup using the GUI.

B. Obiject replication is supported at the block level only.

C. Object replication is not supported for this type of file system.
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D. Object replication is supported on the storage pool level only.

Correct Answer: C

QUESTION 4

A customer requires a VSP asynchronous replication solution for their Hitachi NAS Platform 4000. They
have two data centers that are over 500 km apart. They are concerned with intermittent network
connectivity problems and would like to leverage disk-based journaling.

Which block-based replication should be used?

A. Hitachi Shadowlmage

B. Hitachi TrueCopy

C. Hitachi Universal Replicator

D. Hitachi TrueCopy Extended Distance

Correct Answer: C

QUESTION 5

A customer wants to configure Data Migrator jobs to allow them to migrate unused data to a slower tier of
disk.

Which three Data Migrator parameters must be configured? (Choose three.)

A. path

B. replication

C.rule

D. schedule

E. task

Correct Answer: ACD

QUESTION 6
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Which two statements describe file system checkpoints? (Choose two.)

A. The default number of checkpoints for a WFS-1 file system is 128.

B. To restore a file system to a previous checkpoint, use the "fs-checkpoint-select" command.

C. The maximum number of checkpoints for a WFS-2 file system is 2048.

D. When restoring a file system using a checkpoint, snapshots taken after that checkpoint are lost

Correct Answer: BD

QUESTION 7

A customer is running Web messaging related applications using a Hitachi NAS Platform 4000. They are
worried about data inconsistencies and would like to know how a WFS-2 file system can benefit their
current environment.

Which two functions will provide an additional layer of data protection? (Choose two.)

A. Use multiple checkpoints.

B. Perform a quick rollback to a previous successful snapshot.

C. Perform data recovery from the deleted file system.

D. Execute the "consistency-check” command.

Correct Answer:. AB

QUESTION 8

A customer wants to implement a Hitachi NAS Platform 4000 in a 10 GbE network environment with some
1 GbE clients and they are asking about potential performance limiting factors in their network.

Which two factors must be taken into consideration? (Choose two.)

A. the use of a Network File System

B. the use of flow control

C. the number of modules (blades) in a switch

D. the number of network hops

Correct Answer: BD
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QUESTION 9

A customer has just implemented anti-virus scanning on their Hitachi NAS Platform and they are experiencing degraded
performance since the implementation. Which three actions should the customer take to improve performance?
(Choose three.)

A. Increase the number of anti-virus scanning servers.

B. Enable SMB signing to reduce protocol overhead.

C. Upgrade the anti-virus scanning server hardware.

D. Optimize the network connectivity between the anti-virus scanning servers and the Hitachi NAS Platform.

E. Enable ICMP on the anti-virus scanning servers.

Correct Answer: ACD

QUESTION 10

You are planning a data migration from a distributed Windows file server environment to a Hitachi NAS
Platform 4000. You have discovered that some of the applications use hard-coded IP addresses. You
have also identified that login scripts are used to map network drives for the end users.

Which two methods should you use to minimize impact to users? (Choose two.)

A. Modify the login scripts to point to the new location.

B. Use CNAME records to preserve the IP addresses for hard-coded applications.

C. Use the same IP addresses on the EVS as the original server for applications.

D. Use CHS to present a unified namespace and transparently migrate the applications.

Correct Answer: AC
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